



Approximating common fixed points for a pair of generalized nonlinear mappings in convex metric space

Chao Wang*, Taizhong Zhang

School of Mathematics and Statistics, Nanjing University of Information Science and Technology, Nanjing 210044, P. R. China

Communicated by P. Kumam

Abstract

In this paper, a pair of generalized nonlinear mappings are introduced. Sufficient conditions for the existence of common fixed points for a pair of generalized nonlinear mappings in convex metric spaces are obtained and Krasnoselskii type iterations are used to approximate common fixed points. Our results generalize and extend various known results. ©2016 All rights reserved.

Keywords: Nonlinear mappings, common fixed point, convex metric spaces, existence conditions, Krasnoselskii type iterations.

2010 MSC: 47H09, 47H10.

1. Introduction and Preliminaries

In the past few decades, fixed point theorems for contractive type mappings have been extensively studied by many authors in the framework of Banach spaces and metric spaces [2, 4, 5, 8, 14]. If the domain is a closed convex subset, some common fixed point theorems for generalized contractive mappings in uniformly convex Banach spaces are proved in [1]. In 1984, Wang *et al.* [13] gave some fixed point theorems for expansive type mappings which correspond to some contractive type mappings. Later, Daffer and Kaneko [3] defined a pair of expansive type mappings and prove some common fixed point theorems for two mappings in metric spaces. In metric spaces, Takahashi [9] introduced a convex structure:

*Corresponding author

Email addresses: wangchaosx@126.com (Chao Wang), ztz@nuist.edu.cn (Taizhong Zhang)

A convex structure in a metric space (X, d) is a mapping $W : X \times X \times [0, 1] \rightarrow X$ satisfying, for each $x, y, u \in X$ and $\lambda \in [0, 1]$,

$$d(u, W(x, y; \lambda)) \leq \lambda d(u, x) + (1 - \lambda)d(u, y).$$

A metric space (X, d) together with a convex structure W is called a convex metric space (X, d, W) . Moreover, a nonempty subset K of X is said to be convex if $W(x, y; \lambda) \in K$ for all $(x, y; \lambda) \in K \times K \times [0, 1]$.

In fact, every normed space and its convex subset are special examples of convex metric spaces. Many authors ([6, 7, 10, 11, 12]) have considered some existence and convergence theorems for fixed points of contractive type mappings in convex metric spaces.

Inspired and motivated by the above results, we first define a pair of generalized nonlinear mappings (which include many contractive type and expansive type mappings), if the domain is a closed convex subset of a convex metric space, we study some sufficient conditions for existence of common fixed points for a pair of generalized nonlinear mappings and use Krasnoselskii type iterations to approximate common fixed points. Our results generalize and improve the corresponding results in [1, 2, 3, 4, 5, 6, 7, 8, 10, 13, 14].

Definition 1.1. Let K be a nonempty subset of a metric space (X, d) . Two mappings $T, S : K \rightarrow K$ are said to be a pair of generalized nonlinear mappings if there exist k, a, b, c such that

$$kd(Tx, Sy) \leq ad(x, y) + b[d(x, Tx) + d(y, Sy)] + c[d(x, Sy) + d(y, Tx)] \tag{1.1}$$

for all $x, y \in K$.

It is easy to see that contractive and expansive type mappings considered in [1, 2, 3, 4, 5, 6, 8, 10, 13, 14] can be obtain from a pair of generalized nonlinear mappings (1.1) by suitably choosing the mappings T, S and the coefficients (k, a, b, c) . For example, let $T = S$ and $k = 1, a \geq 0, b \geq 0, c \geq 0$, a pair of generalized nonlinear mappings (1.1) change into the generalized contractive mapping in [2, 4, 8, 10].

We need the following notations for a pair of generalized nonlinear mappings (1.1):

$$\Gamma_1 = \bigcup_{\lambda \in [0,1]} A_\lambda, \quad \Gamma_2 = \bigcup_{\lambda \in [0,1]} B_\lambda, \quad \Gamma_3 = \bigcup_{\lambda \in [0,1]} C_\lambda, \quad \Gamma_4 = \bigcup_{\lambda \in [0,1]} D_\lambda,$$

where

$$\begin{aligned} A_\lambda &= \{(k, a, b, c) \mid b + |c| \leq a + 2b + c + |c| + (|k| - a)\lambda < k\}, \\ B_\lambda &= \{(k, a, b, c) \mid b + c \leq a + 2b + c + |c| + (|k| + c - |c| - a)\lambda < k\}, \\ C_\lambda &= \{(k, a, b, c) \mid b + |c| \leq a + 2b + c + |c| - (k + a)\lambda < -|k|\}, \\ D_\lambda &= \{(k, a, b, c) \mid b + c \leq a + 2b + c + |c| - (k + a + |c| - c)\lambda < -|k|\}. \end{aligned}$$

Note that if $c \geq 0$, then $\Gamma_1 = \Gamma_2$ and $\Gamma_3 = \Gamma_4$. And if $k \leq 0$, then $\Gamma_1 = \Gamma_3$ and $\Gamma_2 = \Gamma_4$.

2. Main results

For the proof of our main results, we require the following lemma in [9].

Lemma 2.1. Let (x, d, W) be a convex metric space, then the following statements hold:

- (i) $d(x, y) = d(x, W(x, y; \lambda)) + d(y, W(x, y; \lambda))$,
- (ii) $d(x, W(x, y; \lambda)) = (1 - \lambda)d(x, y), \quad d(y, W(x, y; \lambda)) = \lambda d(x, y), \quad \text{for all } x, y \in X \text{ and } \lambda \in [0, 1]$.

Now, we give our main results.

Theorem 2.2. Let (X, d, W) be a complete convex metric space, and K be a nonempty, closed and convex subset of X . Suppose $T, S : K \rightarrow K$ is a pair of generalized nonlinear mappings (1.1) such that $(k, a, b, c) \in \Gamma_\rho$, for any $\rho \in \{1, 2, 3, 4\}$. Then, T and S have at least one common fixed point in K . Furthermore, if $a + 2c < k$, then T and S have a unique common fixed point in K .

Proof. For any given point $\lambda \in [0, 1)$, let $x_0 \in K$, define the sequence $\{x_n\}_\lambda$ by

$$\begin{cases} x_{2n+1} = W(x_{2n}, Tx_{2n}; \lambda), \\ x_{2n+2} = W(x_{2n+1}, Sx_{2n+1}; \lambda), \end{cases} \tag{2.1}$$

for all $n \geq 0$.

Claim I. There exists $\theta \in [0, 1)$ such that for all $n \geq 0$,

$$d(x_{2n+1}, x_{2n+2}) \leq \theta d(x_{2n}, x_{2n+1}).$$

From Lemma 2.1 and (2.1), we get

$$d(x_{2n+1}, x_{2n+2}) = d(x_{2n+1}, W(x_{2n+1}, Sx_{2n+1}; \lambda)) = (1 - \lambda)d(x_{2n+1}, Sx_{2n+1}), \tag{2.2}$$

$$d(x_{2n}, x_{2n+1}) = d(x_{2n}, W(x_{2n}, Tx_{2n}; \lambda)) = (1 - \lambda)d(x_{2n}, Tx_{2n}), \tag{2.3}$$

for all $n \geq 0$. Now, substituting x with x_{2n} and y with x_{2n+1} in (1.1), we obtain

$$\begin{aligned} kd(Tx_{2n}, Sx_{2n+1}) &\leq ad(x_{2n}, x_{2n+1}) + b[d(x_{2n}, Tx_{2n}) + d(x_{2n+1}, Sx_{2n+1})] \\ &\quad + c[d(x_{2n}, Sx_{2n+1}) + d(x_{2n+1}, Tx_{2n})]. \end{aligned} \tag{2.4}$$

By (2.1), Lemma 2.1 and (2.3), we get

$$d(x_{2n+1}, Tx_{2n}) = d(W(x_{2n}, Tx_{2n}; \lambda), Tx_{2n}) = \lambda d(x_{2n}, Tx_{2n}) = \frac{\lambda}{1 - \lambda} d(x_{2n}, x_{2n+1}). \tag{2.5}$$

By the triangle inequality for $d(Tx_{2n}, Sx_{2n+1})$, we have

$$\begin{cases} d(Tx_{2n}, Sx_{2n+1}) \leq d(Tx_{2n}, x_{2n+1}) + d(x_{2n+1}, Sx_{2n+1}), \\ d(Tx_{2n}, Sx_{2n+1}) \geq -d(Tx_{2n}, x_{2n+1}) + d(x_{2n+1}, Sx_{2n+1}), \\ d(Tx_{2n}, Sx_{2n+1}) \geq d(Tx_{2n}, x_{2n+1}) - d(x_{2n+1}, Sx_{2n+1}). \end{cases}$$

Therefore, it follows from (2.2) and (2.5) that

$$kd(Tx_{2n}, Sx_{2n+1}) \geq \frac{-|k|\lambda}{1 - \lambda} d(x_{2n}, x_{2n+1}) + \frac{k}{1 - \lambda} d(x_{2n+1}, x_{2n+2}), \tag{2.6}$$

$$kd(Tx_{2n}, Sx_{2n+1}) \geq \frac{k\lambda}{1 - \lambda} d(x_{2n}, x_{2n+1}) - \frac{|k|}{1 - \lambda} d(x_{2n+1}, x_{2n+2}). \tag{2.7}$$

Similarly, by the triangle inequality for $d(x_{2n}, Sx_{2n+1})$, we have

$$\begin{cases} d(x_{2n}, Sx_{2n+1}) \leq d(x_{2n}, x_{2n+1}) + d(x_{2n+1}, Sx_{2n+1}), \\ d(x_{2n}, Sx_{2n+1}) \geq d(x_{2n}, x_{2n+1}) - d(x_{2n+1}, Sx_{2n+1}), \\ d(x_{2n}, Sx_{2n+1}) \geq -d(x_{2n}, x_{2n+1}) + d(x_{2n+1}, Sx_{2n+1}). \end{cases}$$

Therefore, it follows from (2.2) that

$$cd(x_{2n}, Sx_{2n+1}) \leq cd(x_{2n}, x_{2n+1}) + \frac{|c|}{1 - \lambda} d(x_{2n+1}, x_{2n+2}), \tag{2.8}$$

$$cd(x_{2n}, Sx_{2n+1}) \leq |c|d(x_{2n}, x_{2n+1}) + \frac{c}{1 - \lambda} d(x_{2n+1}, x_{2n+2}). \tag{2.9}$$

Case 1 : by (2.2)-(2.5), (2.6) and (2.8), we have

$$\begin{aligned} \frac{k}{1-\lambda}d(x_{2n+1}, x_{2n+2}) - \frac{|k|\lambda}{1-\lambda}d(x_{2n}, x_{2n+1}) &\leq ad(x_{2n}, x_{2n+1}) + \frac{b}{1-\lambda}d(x_{2n}, x_{2n+1}) \\ &+ \frac{b}{1-\lambda}d(x_{2n+1}, x_{2n+2}) + \frac{c\lambda}{1-\lambda}d(x_{2n}, x_{2n+1}) \\ &+ cd(x_{2n}, x_{2n+1}) + \frac{|c|}{1-\lambda}d(x_{2n+1}, x_{2n+2}). \end{aligned}$$

This implies that

$$\frac{k-b-|c|}{1-\lambda}d(x_{2n+1}, x_{2n+2}) \leq \frac{a+b+c+(|k|-a)\lambda}{1-\lambda}d(x_{2n}, x_{2n+1}).$$

Case 2 : as Case 1, by (2.2)-(2.5), (2.6) and (2.9), we have

$$\frac{k-b-c}{1-\lambda}d(x_{2n+1}, x_{2n+2}) \leq \frac{a+b+|c|+(|k|+c-a-|c|)\lambda}{1-\lambda}d(x_{2n}, x_{2n+1}).$$

Case 3 : as Case 1, by (2.2)-(2.5), (2.7) and (2.8), we have

$$\frac{-|k|-b-c}{1-\lambda}d(x_{2n+1}, x_{2n+2}) \leq \frac{a+b+c-(k+a)\lambda}{1-\lambda}d(x_{2n}, x_{2n+1}).$$

Case 4 : as Case 1, by (2.2)-(2.5), (2.7) and (2.9), we have

$$\frac{-|k|-b-c}{1-\lambda}d(x_{2n+1}, x_{2n+2}) \leq \frac{a+b+|c|-(k+a+|c|-c)\lambda}{1-\lambda}d(x_{2n}, x_{2n+1}).$$

The four above cases and $(k, a, b, c) \in \Gamma_\rho$ imply that Claim I holds.

Claim II. There exists $\theta \in [0, 1)$ such that for all $n \geq 1$,

$$d(x_{2n}, x_{2n+1}) \leq \theta d(x_{2n-1}, x_{2n}).$$

From Lemma 2.1 and (2.1), we also have

$$d(x_{2n+1}, x_{2n}) = d(W(x_{2n}, Tx_{2n}; \lambda), x_{2n}) = (1-\lambda)d(x_{2n}, Tx_{2n}), \tag{2.10}$$

$$d(x_{2n-1}, x_{2n}) = d(x_{2n-1}, W(x_{2n-1}, Sx_{2n-1}; \lambda)) = (1-\lambda)d(x_{2n-1}, Sx_{2n-1}), \tag{2.11}$$

for all $n \geq 1$. Now, substituting x with x_{2n} and y with x_{2n-1} in (1.1), we obtain

$$\begin{aligned} kd(Tx_{2n}, Sx_{2n-1}) &\leq ad(x_{2n}, x_{2n-1}) + b[d(x_{2n}, Tx_{2n}) + d(x_{2n-1}, Sx_{2n-1})] \\ &+ c[d(x_{2n}, Sx_{2n-1}) + d(x_{2n-1}, Tx_{2n})] \end{aligned}$$

By the same method as Claim I, we can prove Claim II.

Claim III. $\{x_n\}$ is a Cauchy sequence in K .

From Claim I and Claim II, for any positive integer $n \geq 1$, we have

$$d(x_{n+1}, x_n) \leq \theta d(x_n, x_{n-1}),$$

where $\theta \in [0, 1)$. Thus, $d(x_{n+1}, x_n) \leq \theta^n d(x_1, x_0)$, where $x_1 = W(x_0, Tx_0; \lambda)$. For any $m > n$, we have

$$d(x_m, x_n) \leq [\theta^n + \theta^{n+1} + \dots + \theta^{m-1}]d(x_1, x_0) \leq \frac{\theta^n}{1-\theta}d(x_1, x_0).$$

Hence, $\{x_n\}$ is a Cauchy sequence in K . Since K is a closed convex subset in X , there exists $x^* \in K$ such that $\lim_{n \rightarrow \infty} x_n = x^*$.

Claim V. x^* is a common fixed point for a pair of generalized nonlinear mappings (1.1).

Letting $n \rightarrow \infty$ in (2.2) and (2.11), we get that $\lim_{n \rightarrow \infty} Sx_n = x^*$. By substituting x with x^* and y with x_n in (1.1), we have

$$kd(Tx^*, Sx_n) \leq ad(x^*, x_n) + b[d(x^*, Tx^*) + d(x_n, Sx_n)] + c[d(x^*, Sx_n) + d(x_n, Tx^*)]$$

for all $n \in \mathbb{N}$. Letting $n \rightarrow \infty$ in the above inequality, we have

$$kd(Tx^*, x^*) \leq (b + c)d(Tx^*, x^*).$$

Since $(k, a, b, c) \in \Gamma_\rho$, it follows that $d(Tx^*, x^*) = 0$. Hence, $x^* = Tx^*$. On the other hand, letting $n \rightarrow \infty$ in (2.3) and (2.10), we get that $\lim_{n \rightarrow \infty} Tx_n = x^*$. By substituting x with x^* and y with x_n in (1.1), we have

$$kd(Tx_n, Sx^*) \leq ad(x_n, x^*) + b[d(x_n, Tx_n) + d(x^*, Sx^*)] + c[d(x_n, Sx^*) + d(x^*, Tx_n)]$$

for all $n \in \mathbb{N}$. Letting $n \rightarrow \infty$ in the above inequality, we have

$$kd(x^*, Sx^*) \leq (b + c)d(x^*, Sx^*).$$

Since $(k, a, b, c) \in \Gamma_\rho$, it follows that $x^* = Sx^*$. Therefore, Claim V holds.

Claim VI. If $(k, a, b, c) \in \Gamma_\rho$ and $a + 2c < k$, then x^* is the unique common fixed point of T and S .

Assume that there exist $x_1, x_2 \in K$ such that $Tx_1 = Sx_1 = x_1$, $Tx_2 = Sx_2 = x_2$. Substituting x with x_1 and y with x_2 in (1.1), we have

$$kd(Tx_1, Sx_2) \leq ad(x_1, x_2) + b[d(x_1, Tx_1) + d(x_2, Sx_2)] + c[d(x_1, Sx_2) + d(x_2, Tx_1)].$$

That is

$$kd(x_1, x_2) \leq (a + 2c)d(x_1, x_2).$$

This implies that $x_1 = x_2$. We conclude that Claim VI holds. □

Remark 2.3. (i) Instead of Picard iterations considered in [1, 2, 3, 4, 5, 8, 13, 14], we use Krasnoselskii type iterations (2.1) to converge common fixed points for a pair of generalized nonlinear mappings (1.1) in convex metric space.

(ii) From Theorem 2.2, we can also study some sufficient conditions for existence of common fixed points for the following two mappings in convex metric space:

$$kd(Tx, Sy) \leq a_1d(x, y) + a_2d(x, Tx) + a_3d(y, Sy) + a_4d(x, Sy) + a_5d(y, Tx).$$

Now, we give a special example to illustrate the results of Theorem 2.2.

Example 2.4. Let $X = \mathbb{R}$ (the set of real numbers) with the usual metric, $K = [0, \infty)$ and $T, S : K \rightarrow K$ be given by

$$Tx = \begin{cases} \frac{x}{4}, & x \in U = [0, \frac{1}{2}); \\ \frac{x}{8}, & x \in V = [\frac{1}{2}, \infty). \end{cases} \quad Sx = \begin{cases} \frac{x}{8}, & x \in U = [0, \frac{1}{2}); \\ \frac{x}{4}, & x \in V = [\frac{1}{2}, \infty). \end{cases}$$

Then we have the following statements:

- (i) T and S has a unique common fixed point 0;
- (ii) T and S are a pair of generalized nonlinear mappings (1.1) with $k = 1, a = \frac{1}{4}, b = \frac{1}{3}, c = 0$ and $\lambda \in [0, \frac{1}{9})$ (which satisfy $(k, a, b, c) \in \Gamma_2$ and $a + 2c < 1$). In fact, let $M(x, y) = ad(x, y) + b[d(x, Tx) + d(y, Ty)] + c[d(x, Ty) + d(y, Tx)]$, we know that

Case 1: For $x, y \in U$,

$$d(Tx, Sy) = \left| \frac{x}{4} - \frac{y}{8} \right| \leq \frac{x}{4} + \frac{y}{8} \leq \frac{1}{4}|x - y| + \frac{1}{3} \left[\frac{3}{4}x + \frac{7}{8}y \right] + 0 \left[\left| x - \frac{y}{8} \right| + \left| y - \frac{x}{4} \right| \right] = M(x, y),$$

Case 2: For $x, y \in V$,

$$d(Tx, Sy) = \left| \frac{x}{8} - \frac{y}{4} \right| \leq \frac{x}{8} + \frac{y}{4} \leq \frac{1}{4}|x - y| + \frac{1}{3} \left[\frac{7}{8}x + \frac{3}{4}y \right] + 0 \left[\left| x - \frac{y}{4} \right| + \left| y - \frac{x}{8} \right| \right] = M(x, y),$$

Case 3: For $x \in U, y \in V$,

$$d(Tx, Sy) = \left| \frac{x}{4} - \frac{y}{4} \right| \leq \frac{1}{4}|x - y| + \frac{1}{3} \left[\left| x - \frac{x}{4} \right| + \left| y - \frac{y}{4} \right| \right] + 0 \left[\left| x - \frac{y}{4} \right| + \left| y - \frac{x}{4} \right| \right] = M(x, y),$$

Case 4: For $x \in V, y \in U$,

$$d(Tx, Sy) = \left| \frac{x}{8} - \frac{y}{8} \right| \leq \frac{1}{4}|x - y| + \frac{1}{3} \left[\left| x - \frac{x}{8} \right| + \left| y - \frac{y}{8} \right| \right] + 0 \left[\left| x - \frac{y}{8} \right| + \left| y - \frac{x}{8} \right| \right] = M(x, y);$$

(iii) Let $k = 1, a = \frac{1}{4}, b = \frac{1}{3}, c = 0$, for $\lambda \in [0, \frac{1}{9})$, a family iterations $\{x_n\}$ defined by

$$\begin{cases} x_{2n+1} = W(x_{2n}, Tx_{2n}; \lambda), \\ x_{2n+2} = W(x_{2n+1}, Sx_{2n+1}; \lambda), \end{cases}$$

converge to the unique fixed point 0.

Let $k = 1$ and $\lambda = 0$ in Theorem 2.2, we get the following result for a pair of generalized contractive type mappings.

Corollary 2.5. *Let (X, d, W) be a complete convex metric space, and K be a nonempty, closed and convex subset of X . Suppose $T, S : K \rightarrow K$ such that*

$$d(Tx, Sy) \leq ad(x, y) + b[d(x, Tx) + d(y, Sy)] + c[d(x, Sy) + d(y, Tx)] \tag{2.12}$$

where $b + c \leq a + 2b + c + |c| < 1$. Then, T and S have a common fixed point in K . Furthermore, if $a + 2c < 1$, then T and S have a unique common fixed point in K .

Proof. It follows from $k = 1$ and $\lambda = 0$ that

$$\Gamma_3 \subseteq \Gamma_4 \subseteq \Gamma_2, \quad \Gamma_3 \subseteq \Gamma_1 \subseteq \Gamma_2,$$

where $\Gamma_2 = \{(1, a, b, c) \mid b + c \leq a + 2b + c + |c| < 1\}$. Therefore, by Theorem 2.2, the result follows. □

Remark 2.6. Corollary 2.5 extends the results in [1, 2, 4, 5, 8, 14] to convex metric spaces and generalized the corresponding results in [2, 4, 6, 8, 10] as a pair of generalized contractive type mappings (2.12).

Let $k = -1$ and $\lambda = 0$ in Theorem 2.2, we get the following result for generalized expansive type mappings.

Corollary 2.7. *Let (X, d, W) be a complete convex metric space, and K be a nonempty, closed and convex subset of X . Suppose $T, S : K \rightarrow K$ such that*

$$d(Tx, Sy) \geq a'd(x, y) + b'[d(x, Tx) + d(y, Sy)] + c'[d(x, Sy) + d(y, Tx)] \tag{2.13}$$

where $1 < a' + 2b' + c' - |c'| \leq b' + c'$. Then, T and S have a common fixed point in K . Furthermore, if $a' + 2c' > 1$, then T and S have a unique common fixed point in K .

Proof. It follows from $k = -1$ and $\lambda = 0$ that

$$\Gamma_3 = \Gamma_1 \subseteq \Gamma_2 = \Gamma_4,$$

where $\Gamma_2 = \{(-1, a, b, c) \mid b + c \leq a + 2b + c + |c| < -1\}$. Let $a' = -a, b' = -b, c' = -c$, from Theorem 2.2, the result follows. \square

Remark 2.8. If the domain is a closed convex subset of convex metric spaces, we give a sufficient condition for existence of common fixed points for a pair of generalized expansive type mappings (2.13). Hence Corollary 2.7 improves the corresponding results in [3, 13].

Theorem 2.9. *Let (X, d, W) be a complete convex metric space, and K be a nonempty, closed and convex subset of X . Suppose $T, S : K \rightarrow K$, there exist positive integer p, q such that*

$$kd(T^p x, S^q y) \leq ad(x, y) + b[d(x, T^p x) + d(y, S^q y)] + c[d(x, S^q y) + d(y, T^p x)]$$

where $(k, a, b, c) \in \Gamma_\rho$, for any $\rho \in \{1, 2, 3, 4\}$. If $a + 2c < k$, then T and S have a unique common fixed point in K .

Proof. Let $T' = T^p$ and $S' = S^q$, from Theorem 2.2, we know that T' and S' have a unique common fixed point $u \in K$. Since

$$T^p(Tu) = T(T^p u) = Tu, \quad S^q(Su) = S(S^q u) = Su,$$

it follows that $Tu = Su = u$. Hence T and S have a unique common fixed point $u \in K$. \square

Remark 2.10. As Corollary 2.5 and Corollary 2.7, we can also get some corollaries for Theorem 2.9.

Acknowledgements:

This work was partially supported by University Science Research Project of Jiangsu Province of China (No.13KJB110021) and Scholarship Award for Excellent Doctoral Student granted by Ministry of Education (No.1390219098).

References

- [1] S. C. Bose, *Common fixed points of mappings in a uniformly convex Banach space*, J. London Math. Soc., **18** (1978), 151–156. 1, 1, 2.3, 2.6
- [2] R. K. Bose, R. N. Mukherjee, *Approximating fixed points of some mappings*, Proc. Amer. Math. Soc., **82** (1981), 603–606. 1, 1, 2.3, 2.6
- [3] P. Z. Daffer, H. Kaneko, *On expansive mapping*, Math. Japon., **37** (1992), 733–735. 1, 1, 2.3, 2.8
- [4] K. Goebel, W. A. Kirk, T. N. Shimi, *A fixed point theorem in uniformly convex space*, Boll. Un. Math. Ital., **7** (1973), 67–75. 1, 1, 2.3, 2.6
- [5] R. Kannan, *Some results on fixed point III*, Fund. Math., **70** (1971), 169–177. 1, 1, 2.3, 2.6
- [6] M. Moosaei, *Fixed point theorems in convex metric space*, Fixed Point Theory Appl., **2012** (2012), 6 pages. 1, 1, 2.6
- [7] O. Popescu, *Two generalization of some fixed point theorems*, Comput. Math. Appl., **62** (2011), 3912–3919. 1
- [8] B. K. Ray, *A fixed point theorem in Banach space*, Indian J. Pure Appl. Math., **8** (1977), 903–907. 1, 1, 2.3, 2.6
- [9] W. Takahashi, *A convexity in metric spaces and nonexpansive mappings*, I. Kodai Math. Sem. Rep., **22** (1970), 142–149. 1, 2
- [10] C. Wang, *Approximating fixed points of nonlinear mappings in convex metric spaces*, submitted. 1, 1, 2.6
- [11] C. Wang, *Some fixed point results for nonlinear mappings in convex metric spaces*, J. Nonlinear Sci. Appl., **8** (2015), 670–677. 1
- [12] C. Wang, L. W. Liu, *Convergence theorems for fixed points of uniformly quasi-Lipschitzian mappings in convex metric spaces*, Nonlinear Anal., **70** (2009), 2067–2071. 1
- [13] S. Z. Wang, B. Y. Li, Z. M. Gao, K. Iseki, *Some fixed point theorems for expansion mappings*, Math. Japonica., **29** (1984), 631–636. 1, 1, 2.3, 2.8
- [14] T. Zamfirescu, *Fixed point theorems in metric spaces*, Arch. Math., **23** (1972), 292–298. 1, 1, 2.3, 2.6